

Erratum to “Method of Analytical Resolution of the Navier-Stokes Equations” [Open Journal of Fluid Dynamics Vol.13 No.5, (2023) 226-231

Jean Luc Wendkouni Tougma

Burkina Institute of Technology, Koudougou, Burkina Faso

Email: jeanlucougma@outlook.fr

How to cite this paper: Tougma, J.L.W. (2025) Erratum to “Method of Analytical Resolution of the Navier-Stokes Equations” [Open Journal of Fluid Dynamics Vol.13 No.5, (2023) 226-231. *Open Journal of Fluid Dynamics*, 15, 133-135. <https://doi.org/10.4236/ojfd.2025.153008>

Received: July 8, 2025

Accepted: July 18, 2025

Published: July 21, 2025

Copyright © 2025 by author(s) and Scientific Research Publishing Inc. This work is licensed under the Creative Commons Attribution International License (CC BY 4.0).

<http://creativecommons.org/licenses/by/4.0/>



Open Access

Abstract

The original online version of this article (Jean Luc Wendkouni Tougma (2023) Method of Analytical Resolution of the Navier-Stokes Equations. Volume 13, 226-231 <https://doi.org/10.4236/ojfd.2023.135017> was published with one method missing in Results and Discussion section. The author wishes to add a new section as follows.

Keywords

Erratum

1. Results and Discussion 2

Then Navier Stokes equations become $\nu = \alpha$ the viscosity constant:

$$\frac{\partial \mathbf{v}}{\partial t} + (N-10) \sum_{n=1}^{+\infty} \frac{v^{500n+2}}{n!} - 10^{-2} \sum_{p=0}^{N-10} p v = \mathbf{f} + \alpha \nabla^2 \mathbf{v} - \frac{1}{\rho} \nabla P \quad (1)$$

$$\frac{\partial \mathbf{v}}{\partial t} + (N-10) \sum_{n=1}^{+\infty} \frac{v^{500n+2}}{n!} - \frac{(N-10)(N-9)}{2 \times 10^2} v = \mathbf{f} + \alpha \nabla^2 \mathbf{v} - \frac{1}{\rho} \nabla P \quad (2)$$

Let $v = h(t)g(r)$ with $r \in \{x, y, z\}$ a coordinate:

$$\frac{1}{h} \frac{\partial h}{\partial t} + (N-10) \sum_{n=1}^{+\infty} \frac{v^{500n+1}}{n!} - \frac{(N-10)(N-9)}{2 \times 10^2} = \frac{\mathbf{f}}{v} + \alpha \frac{1}{g} \nabla^2 g - \frac{1}{v\rho} \nabla P \quad (3)$$

with $\frac{1}{h} \frac{\partial h}{\partial t} = -K^2$; $K^2 = \frac{1}{\tau_c}$ the temporal decay, we obtain:

$$h = h_0 \exp\left(-\frac{t}{\tau_c}\right) \quad (4)$$

Let's take $\omega^2 = \frac{1}{\tau_c} + \frac{(N-10)(N-9)}{2 \times 10^2}$ we get:

$$\iint f dr^2 + \alpha \iint d^2 v - \frac{1}{\rho} \iint \nabla P dr^2 - (N-10) \sum_{n=1}^{+\infty} \iint \frac{v^{500n+2}}{n!} dr^2 + \omega^2 \iint v dr^2 = 0 \quad (5)$$

$$\frac{fr^2}{2} + \alpha \frac{v^2}{2} - \frac{Pr}{\rho} - (N-10) \sum_{n=1}^{+\infty} \frac{1}{n!} \iint v^{500n+2} dr^2 + \omega^2 \iint v dr^2 = 0 \quad (6)$$

with $g = \exp(ar)$ we have $dv = avdr$ that implies $dr = \frac{1}{a} \frac{dv}{v}$, then we get:

$$a^2 \frac{fr^2}{2} + a^2 \alpha \frac{v^2}{2} - a^2 \frac{Pr}{\rho} - (N-10) \sum_{n=1}^{+\infty} \frac{1}{n!} \iint v^{500n} dv^2 + \omega^2 \iint \frac{1}{v} dv^2 = 0 \quad (7)$$

$$\begin{aligned} & a^2 \frac{fr^2}{2} + a^2 \alpha \frac{v^2}{2} - a^2 \frac{Pr}{\rho} \\ & - (N-10) \sum_{n=1}^{+\infty} \frac{v^{500n+2}}{n!(500n+1)(500n+2)} + \omega^2 [\ln(v) - 1] v = 0 \end{aligned} \quad (8)$$

$$\begin{aligned} & a^2 \frac{fr^2}{2} + a^2 \alpha \frac{v^2}{2} - a^2 \frac{Pr}{\rho} - (N-10) \sum_{n=1}^{+\infty} \frac{v^{500n+2}}{n!(500n+1)(500n+2)} \\ & = \omega^2 [1 - \ln(v)] v \end{aligned} \quad (9)$$

a and τ_c must numerically verify for v :

$$\begin{aligned} v(r \in \{x, y, z\}) = & \frac{a^2}{\omega^2 \left(1 + \frac{t}{\tau_c} - ar\right)} \left\{ \frac{fr^2}{2} + \alpha \frac{\exp \left[2 \left(ar - \frac{t}{\tau_c} \right) \right]}{2} - \frac{Pr}{\rho} \right. \\ & \left. - (N-10) \sum_{n=1}^{+\infty} \frac{\exp \left[(500n+2) \left(ar - \frac{t}{\tau_c} \right) \right]}{n!(500n+1)(500n+2)a^2} \right\} \end{aligned} \quad (10)$$

by continuity equation, a must also be verified:

$$\frac{D\rho}{Dt} = -av \quad (11)$$

$$\left(\frac{\partial}{\partial t} + v \cdot \nabla \right) \rho = -av \quad (12)$$

$$\left(\frac{\partial}{\partial t} + v \cdot \nabla \right) \frac{\rho}{v} = -a \quad (13)$$

$$-\left(\frac{\partial}{\partial t} + v \cdot \nabla \right) \frac{\rho}{v} = a \quad (14)$$

with $\lambda = a$, we get:

$$\begin{cases} \lambda_{\text{liquid}} = -\left(\frac{\partial}{\partial t} + v \cdot \nabla\right) \rho = -\frac{\partial \rho}{\partial t} \text{ for a liquid } \rho_{\text{liquid}} \gg v_{\text{fluid}} \\ \lambda_{\text{gaz}} \approx -\nabla \rho \text{ for a gaz } \rho_{\text{gaz}} \leq v_{\text{gaz}} \end{cases}$$

$$v(r \in \{x, y, z\}) = \frac{\lambda^2}{\omega^2 \left(1 + \frac{t}{\tau_c} - \lambda r\right)} \left\{ \frac{fr^2}{2} + \alpha \frac{\exp\left[2\left(\lambda r - \frac{t}{\tau_c}\right)\right]}{2} - \frac{Pr}{\rho} \right. \\ \left. - (N-10) \sum_{n=1}^{+\infty} \frac{\exp\left[(500n+2)\left(\lambda r - \frac{t}{\tau_c}\right)\right]}{n!(500n+1)(500n+2)\lambda^2} \right\} \quad (15)$$